
Prüfungsaufgaben Aufgabe 1 
 

 
 
1.1  

                                       p   
f1(x) = y = 175 000 * (1 - ---- )x 

                                     100  
 

                                       p 
10 088 = 175 000 * (1 - ---- )8| : 175 000 

                                     100  



                      p             

0,0576 = (1 - ----)8 | 8  

                    100 

  

                       p             p     
8 0576,0 = 1 - ---- = | + ---- 

                     100          100    

 
  p 

---- + 8 0576,0 = 1 | - 8 0576,0  

100 
 

  p 

---- = 1 - 8 0576,0 | * 100 

100 

 

p = (1 - 8 0576,0 ) * 100 

 

p = 30% 

 

                           30  
f1 = 17500 * (1 - ---- )x 

                          100   

 
f1 = 175 000 * 0,7x 

 
1.2 

 
x      0             2           4          6          8     

y 175 000   82 750   42 018  20 589  10 088 
 

 



 
 

 
1.3  

 
80% Verlust bedeutet, es sind noch 20% an Wert übrig. 

 
175 000 € * 0,2 = 35 000 € 

 
35 000 = 175 000 * 0,7x |: 175 000 

 

0,2 = 0,7x |lg 
 

lg 0,2 = lg 0,7x 
 

lg 0,2 = x * lg 0,7 | :lg 0,7 
 

       lg 0,2       
x = -------- = 4,5 Jahre 

       lg 0,7      
 

1.4  

 

f2 für die Hobelmaschine: 



                              27    
f2 = 125 000 * (1 - ---- )x 

                             100  

 
f2 = 125 000 * 0,73x 

 

f1 und f2 gleichgesetzt: 

 
175 000 * 0,7x = 125 000 * 0,73x | :125 000 

 
1,4 * 0,7x = 0,73x | :0,7x 

 

              0,73x             0,73    

1,4 = -------- = (-------)x 
          0,7x           0,7  

 
1,4 = 1,0429x |lg 

 

lg 1,4 = lg 1,0429x    
 

lg 1,4 = x * lg 1,0429 | lg 1,0429 
 

         lg 1,4      
x = ------------ = 8 Jahre 

       lg 1,0429     
 

1.5 

 

                          24    
5 000 = K0 * (1 - ---- )7 

                         100  
 

5 000 = K0 * 0,767 |: 0,767 

 
         5 000      

K0 = -------- = 34 141 € 

         0,767 

    
 

 


